Study Guide-Unit 2 Ecology (Ch. 15-19)
Completion
Complete each sentence or statement.

1.
A fish called a cleaner fish eats the tiny parasites that cling to and feed upon much larger fish. Therefore, the cleaner wrasse has a(n) ____________________ relationship with the larger fish.

2.
The difference between the birth rate and death rate of a population is the ____________________ ____________________.

3.
Small population sizes and slow population growth are typical of organisms that are ____________________-strategists.

4.
The symbiotic relationship in which one organism benefits and the other neither benefits nor suffers harm is called ____________________.

5.
The living organisms in a habitat are called ____________________ factors.

6.
The ____________________ ____________________ is the population size that can be sustained by an environment.

7.
A symbiotic relationship in which one organism benefits and another is often harmed but not killed is called ____________________.

8.
A(n) ____________________ consists of all the individuals of a particular species in a particular place.

9.
Species that are ____________________-strategists tend to have periods of exponential growth followed by sudden crashes in population size.

10.
An energy pyramid shows the amount of energy contained in the bodies of organisms at each ____________________ level.
All statements are FALSE, please underline the incorrect portion of the statement and correct it below.

11.
A community includes only one species within an area.

_____________________________________________________________________________________

12.
The lowest trophic level of any ecosystem is occupied by the consumers.

_____________________________________________________________________________________

13.
A trophic level is made of organisms who transfer their energy from the same feeding level.

_____________________________________________________________________________________

14.
An organism’s niche is the sum of only certain interactions with other organisms.

_____________________________________________________________________________________

15.
Ecologists call the physical location of a community its home.

_____________________________________________________________________________________

16.
Producers in an ecosystem transfer all of their energy to primary-level consumers.

_____________________________________________________________________________________

17.
Ecosystems include only the biotic factors in an area.

_____________________________________________________________________________________


18.
Mutualism is a symbiotic relationship in which only one party benefits.

_____________________________________________________________________________________
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
The diagrams below show different kinds of interactions between species.
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____
19.
Refer to the illustration above.  Draw a line matching which word goes with which figure?

	a.
	mutualism                           Figure 1

	b.
	parasitism                           Figure 2

	c.
	competition                         Figure 3

	d.
	commensalism                    Figure 4


____
20.
Because individuals in a population usually tend to produce more than one offspring,

	a.
	populations tend to increase in size.

	b.
	populations remain stable in size.

	c.
	individuals tend to die quickly.

	d.
	the number of individuals declines rapidly.


____
21.
commensalism : one organism ::

	a.
	competition : both organisms
	c.
	parasitism : both organisms

	b.
	mutualism : both organisms
	d.
	predation : neither organism


____
22.
Which of the following are inappropriately paired?

	a.
	r-strategists — reproduce early in life

	b.
	K-strategists — reproduce late in life

	c.
	r-strategists — mature quickly

	d.
	K-strategists — minimal parental care


____
23.
Ecology is the study of the interaction of living organisms

	a.
	and the food they eat.

	b.
	with one another and their biotic factors.

	c.
	and their communities.

	d.
	with one another and their physical environment.


[image: image2.png]30,000 kcal tertiary consumer (carnivore)

300,000 keal secondary consumer (carnivore)
3,000,000 kcal primary consumer (herbivore)

30,000,000 kecal producer





____
24.
Refer to the illustration above. At each trophic level, the energy stored in the organisms in that level is

	a.
	about one-tenth of the energy in the level above it.

	b.
	100 percent of the energy in the level below it.

	c.
	about one-tenth of the energy in the level below it.

	d.
	50 percent of the energy in the level below it.


____
25.
bacteria : r-strategists ::

	a.
	insects : K-strategists
	c.
	gorillas : K-strategists

	b.
	annual plants : K-strategists
	d.
	rhinoceroses : r-strategists


____
26.
cows : herbivores ::

	a.
	algae : consumers
	c.
	caterpillars : producers

	b.
	horses : carnivores
	d.
	plants : producers


____
27.
The number of trophic levels in an ecological pyramid

	a.
	never exceeds four.

	b.
	never exceeds three.

	c.
	is limitless.

	d.
	is limited by the amount of energy that is lost at each trophic level.


____
28.
Which of the following does not represent a population?

	a.
	all the Grass Frogs in Yosemite National Park

	b.
	all the Robins in Chicago, Illinois

	c.
	all the birds in Austin, Texas

	d.
	all the Earthworms in Central Park, New York City


____
29.
Which one is the correct order of organims from the greatest amount of available energy to  the least amount of available energy?

	a.
	secondary consumer, primary consumer, producer

	b.
	producer, secondary consumer, primary consumer

	c.
	primary consumer, secondary consumer, producer

	d.
	producer, primary consumer, secondary consmuer


Short Answer

30.
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Refer to the graph above

What type of curve does this graph represent?

Name an animal that would represent this type of curve?

Which type of creature r-strategist or K-strategists would show this type of growth?

Give this graph a title

31.
Underline characteristics of K-strategists.

   They take care of their young.

   Environments that are unpredictable.

   They tend to have large babies only 1-2 times a year.

   They have large population numbers. 

   They are Elephants and Humans

   They are Bacteria and Insects.  

   They sexually mature late in life.

32.
Underline biotic factors and circle abiotic factors that could limit the altitude at which plants can grow.
   The presence of a parasite.
   Animals eating them.

   The amount of water.

   The amount of fertilizer.


   The concentration of earthworms and microbes in the soil.
   The temperature of the area.

   The weather.

33.
Cross out anything that is NOT true of r-strategists.

   Parents take care of them

   They have small offspring.


   They have few offspring.

   They sexually mature early in life.

   Environments that are unpredictable.

   Enviroments taht are rapidly changing.

34.
Please draw a line connecting the organism to the correct type of trophic level. 


Primary Producer

Mushroom


Primary Consumer

Grass



Secondary Consumer

Bird


Tertiary Consumer

Cat


Decomposer


Insect

35.
Draw a line matching which word goes with each definition?  


A group of organisms of different species living together.                              Ecosystem             


The place where an organims makes its home.                                                 Community



A group of one specific species of organims living together.                          Habitat



The living and the nonliving aspects of an area.                                              Population

36.
Refer to the illustration above. Can you draw a line matching which type of growth goes with each period?

Population Growth Over Time
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Period A-B                            Population Crash





Period C                                Exponential Growth





Period D                                Carrying Capacity

37.


This is a diagram of an energy pyramid.  
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If Level A started with 1000 units of energy.  How much energy is available to the organism in Level C ____________________.


38.
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The illustration above shows an area that use to be barren (without any growth).  Over time, Grasses, Aspens, and then Spruce Trees eventually grew.  This process is known as what?

_________________________________________________________________________________

39.
When a bee lands on a flower, the bee drinks the nectar from the flower for food.  At the same time the bee also picks up pollen and transfers it from flower to flower, thus allowing plants to pollinate.  This relationship between plants and the bees that pollinate them is an example of what type of symbiosis?

_________________________________________________________________________________

40.
Organic nutrients are things like carbon dioxide, water, sugar, nitrogen, and phosphorous.  What type of rganisms manufacture organic nutrients for an ecosystem.

_________________________________________________________________________________

41.
A clown fish is one of the only types of fish that the sea anemone allows to live among its sting tentacles.  The sea anemone protects the clown fish but gets nothing in return.  Which type of symbiotic relationship exists between a clown fish and a sea anemone?

_________________________________________________________________________________

42.
As a population reaches its carrying capacity, there is an increase in competition for resources.  Name 4 things animals compete for.

_________________________________________________________________________________

43.
What happens if the niches of two organisms overlap?

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

44.
A new species of snake was introduced to a tropical region.  Scientists then noticed a steady decline in the presence of field mice and an increase in the number of snakes.  Explain why you think the population size of each animal changed?

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

45.
Polar Bears swim across large expanses of ocean while hunting for seals, their main source of food.  The bears use sea ice as resting spots during their long swims.  However, the sea ice is rapidly melting as a result of global warming.  What will happen to the Polar Bear and the Seal populations?

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

46.
One species of Galapagos finches, the Cactus Finch, only eats insects off cactus plants.  If a disease kills off most of the cacti in the Galapagos Islands.  What would happen to the carrying capacity of the island?

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

47.
A forest fire destroys the majority of the trees in a state park decreasing the number of primary producers (plants).  What will happen to the amount of energy available to consumers?

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Answer Section
COMPLETION

1.
mutualistic

2.
growth rate

3.
K

4.
commensalism

5.
biotic

6.
carrying capacity

7.
parasitism

8.
population

9.
r

10.
trophic
MULTIPLE CHOICE

19.
A

20.
A

21.
B

22.
D

23.
D

24.
C

25.
C

26.
D

27.
D

28.
C

29.
D
SHORT ANSWER

30.
S-shaped or Logistic

K-strategists


31.
They take care of their young.
Environments that are unpredictable.

They tend to have large babies only 1-2 times a year.
They have large population numbers. 

They are Elephants and Humans
They are Bacteria and Insects.  

They sexually mature late in life.


32.
The presence of a parasite.
Animals eating them.
The amount of water.

The amount of fertilizer.

The concentration of earthworms and microbes in the soil.
The temperature of the area.

The weather.

33.
Parents take care of them
They have small offspring.


They have few offspring.
They sexually mature early in life.

Environments that are unpredictable.

Enviroments taht are rapidly changing.

34.

Primary Producer

Grass


Primary Consumer

Insect



Secondary Consumer

Bird


Tertiary Consumer

Cat


Decomposer


Mushroom

35.


A group of organisms of different species living together.                              Community
      

The place where an organims makes its home.                                                  Habitat

A group of one specific species of organims living together.                           Population

The living and the nonliving aspects of an area.                                               Ecosystem

36.
Period A-B       Exponential Growth



Period C           Carrying Capacity 

Period D            Population Crash

37.
10

38.
Succession

39.
Mutualism

40.
Primary Producers

41.
Commensalism

42.
Food

Water

Shelter

Mates

43.
the organisms may have to compete directly

44.
The mice became prey to the introduced snakes, allowing the snake population to increase but decreasing the mice population.

45.
Polar bear populations will decrease, and seal populations will increase.

46.
It would decrease considerably since the finches are specifically adapted to their niche.

47.
The amount of available energy will decrease because fewer primary consumers will survive the lack of vegetation.

